
a}=kmf=174

bfloTj ?= ?= ;DklQ ?= ?=

1= a}lsé clkm;df gf]^ df}Hbft 8,086,615,706   1= ljb]zL d"b|f / ;]So"l/^L 430,990,000,000

2= rng rNtLdf /x]sf] gf]^ 422,903,384,294

hDdf lgisflzt gf]^ 430,990,000,000

hDdf bfloTj 430,990,000,000   hDdf ;DklQ 430,990,000,000

OSjL^L tyf bfloTj ?= ;DklQ ?=
1 d"nwg 5,000,000,000   1  gf]^ 8,086,615,706
2 ;fwf/)f hu]*f sf]if 21,734,999,885   2  /]RsL -
3 df}lb|s bfloTj sf]if 4,197,513,998   3  ljb]zL d"b|f 17,603,729,594
4 ljsf; sf]ifx? 18,951,238,241   4  ljb]zL a}+s df}Hbft 96,865,618,705
5 #=;f=p= ljsf; sf]if -   5  P;=*L=cf/= ;+lrtL 171,322,848
6 ;^xL ;lds/)f sf]if 82,574,493,607   6  ljb]zL a)* 128,710,927,599
7 ;"grf¤bL ;lds/)f sf]if 10,188,767,853   7  vl/b / l*:sfp)^ u/]sf] ljn
8 ;]So"l/^L k"g/d"Nof+sg sf]if 289,378      -s_ :jb]zL 60,250,889
9 lgIf]k      -v_ ljb]zL -
   -s_ g]kfn ;/sf/ 193,752,687,231   8  nufgL
   -v_ afl)fHo a}°x? 194,425,911,906      s= ljb]zL ;]So"l/^L 279,025,526,193
   -u_ ljz]if lgIf]k 14,400,000,000      v= g]kfn ;/sf/sf] ;]So"l/^L 46,412,041,038
   -#_ cGo 47,072,096,675      u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 3,448,571,870
10 e"QmfgL lbg"kg]{ lan 233,602,281      #= l/kf] ljb]zL -
11 g]=/f=a}= C)fkq lx;fa -      ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000
12 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj -   9  shf{ / ;fk^
13 P;=*L=cf/= af¤*kmf¤* 9,769,636,572      s= g]kfn ;/sf/nfO{ -
14 cGo bfloTj 21,549,789,181      v= jfl)fHo a}+sx?nfO{ 6,094,782,647

     u= ljQLo ;+:yfx?nfO{ 842,488,268
     #= :yfoL t/ntf ;"lawf -
     ª= cGo shf{ / ;fk^ 4,076,871,800
  10 ;"g df}Hbft 1,612,492,258
  11= cGo ;DklQ 30,808,787,393

hDdf OSjL^L tyf bfloTj 623,851,026,808   hDdf ;DklQ 623,851,026,808
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